Construction division. Advice for giving credit to contractors/suppliers.

Sl. N regis	No. – site bills ster	5	17		Regis	- site ster	bills		2	2/0	,,1	2021 u Platin	
	pany Name:	mi) L		Site:				m	4 +	low	M KILLY	2800
Nam	e of Contractor	hn	anes	hw	ev a	chem							
Natu	re of work	Ca	rpen	my	CD	0045	' H'	24				 	
Wor	k done	From Da	ite		101		To D	ate		18		2021	
SI. No.	Villa/Flat/block no			Rate		Units	A	Mou	ınt			ontractors ll no	
1.	beed scylve	Und											
2.	loues												
3.	A-502, A-504,1	A-505											
4.	A-506 - Doors	_ 2	4	37	5/-		4	900	00 :	=12			
5.	Dow beedy	2	4	6	0/-	20		14	40	= 1			
6.	•								_				
7.	-								\perp				
8.													
9.													
10.													
11.		otal:				31		0,4					
Bill 1	required		NO.		GST	bill rec	quirec	d		ES			
	surement &	Requir				ureme			(I				
	estimate sheet:		quired	estimate sheet: PO/WO date:				□ Not enclosed			-		
							-						
Remarks:													
Appr	oved by Project Ma	nager	Appro	oved b	y Desi	gn Tea	ım	App	orove	ed b	y M	.D.	
Date:	22/01/202	-1	Date:					Date	e:				
Sign:			Sign:					Sign	1:				

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Contractor siem 12 chary

					Amount in words - Ten Thousand Four Hundred and Fourly rupees only	Amount in words - To	
					lotal		
					4		
10440							
2,610,00	300.00	60.00	nos	6.00	Other Door Beeding fixing	D001 11x118 5 5 5 6	_
	2,250.00	375.00	nos	6.00	Door fixing for other door with cylindrical lock	Door Eiving - A-506	,
2,610.00					Circi con access of		
	360.00	60.00	nos	6.00	Other Door Beeding fixing	DOOL LIVING - V-200	_
	2,250.00	375.00	nos	6.00	Door fixing for other door with cylindrical lock	Door Eiving - A-505	
2,610.00					d		
	360.00	60.00	nos	6.00	Other Door Beeding fixing	000 in 100 in 10	_
	2,250.00	375.00	nos	6.00	Door fixing for other door with cylindrical lock	Door Fixing - A-504	J
2,610.00							
	360.00	60.00	nos	6.00	Other Door Beeding fixing		
	2,250.00	375.00	nos	6.00	Door fixing for other door with cylindrical lock	Door Fixing - A-502	_
					Door fixing with beeding for flats A-502, A-504, A-505, A-506	Door fixing with been	
Item Head Total	Amount	Rate	Units	Quantity	Item Description	. Item Head	S No.
					22-01-2021	te:	Date:
					K. Narender Reddy	d By	Prepared By
					Gnaneshwar Chary	Name of the Contractor	Name o
				i05, A-506	Door fixing with beeding for flats A-502, A-504, A-505, A-506	Work Description:	Work D
					May Flower Patinum		Project:
					MPPL	Company Name:	Compar
	Approved					ESTIMATE SHEET	ESTIM/

MEASU	MEASUREMENT SHEET				,				
Compar	Company Name:	MPPL			Approved				
Project:		May Flower Patinum							
Work D	Work Description:	Door fixing with beeding for flats A-502, A-504, A-505, A-506	05 A-506						
Name o	Name of the Contractor	Gnaneshwar Charv							
Prepared By	d By	K. Narender Reddy							
Data.		The state stoady							
Date:		22-01-2021							
			A	В	C	В	E=AxBxCxD	71	G=Sum of E
S No.	Item Head	Item Description	l ength	Width	Height	200	Ouantity	linite	Item Head Total
	Door fixing with beeding for	Door fixing with beeding for flats A-502. A-504. A-505. A-506	100				addition, y		
-1	Door Fixing	Door fixing for other door with cylindrical lock	100	100	100	24 00	24 00	200	
~	Door Beeding	Other Door Beeding fixing	1.00	1.00	1.00	24.00	24.00	nos	

Bill for Labour charges

Gnaneshwar Chary Suchitra, Kaveri Nagar ,Uppal Hyderabad

Date:22-01-2021

In favor of:

MPL

Project / Site:

MFP

Location:

82/1. Mallapur

Type of Work:

Door fixing with beeding for flats A-502, A-504, A-505, A-506

Towards:

Allowance for Labour charges

S No.	Description	Amount
1.	Brief description of work done: Door fixing with beeding	
	for flats A-502, A-504, A-505, A-506	Rs.4176=00
	Total amount =Rs 10,440=00	
	Work done from date: 05-01-2021 to 18-01-2021	

Amount in words: Four Thousand One Hundred and Seventy Six rupees only.

Cian.		
Sign:		

Bill for Equipment Allowance

Gnaneshwar Chary

Suchitra,

Kaveri Nagar ,Uppal

Hyderabad

Date:22-01-2021

In favor of: Project / Site:

MPL **MFP**

Location:

82/1. Mallapur

Type of Work:

Door fixing with beeding for flats A-502, A-504, A-505, A-506

Towards:

Allowance for Equipment

	2	Amount
S No.	Description Brief description of work done: Door fixing with beeding for flats A-502, A-504, A-505, A-506 Total amount =Rs 10,440=00 Work done from date: 05-01-2021 to 18-01-2021	Rs.4176=00
	Work done from date: 05-01-2021 to 18-01-2021	

Amount in words: Four Thousand One Hundred and Seventy Six rupees only..

Sign:		

Bill for Consumables

Gnaneshwar Chary Suchitra, Kaveri Nagar ,Uppal Hyderabad

Date:22-01-2021

In favor of:

MPL

Project / Site:

MFP

Location:

82/1. Mallapur

Type of Work:

Door fixing with beeding for flats A-502, A-504, A-505, A-506

Towards:

Allowance for Consumables

S No.	Description	Amount
1.	Brief description of work done: Door fixing with beeding for flats A-502, A-504, A-505, A-506	Rs.2088=00
	Total amount =Rs 10,440=00	113.2000
	Work done from date : 05-01-2021 to 18-01-2021	

Amount in words: Two Thousand and Eighty Eight rupees only.

Sign:		